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The x-coordinate of a point where a graph intersects the x-axis i1s an x-intercept.
To find an x-intercept, let y = 0 in the equation and solve for x.

The y-coordinate of a point where a graph intersects the y-axis 1s a y-intercept.
To find a y-intercept, let x = 0 in the equation and solve for y.
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The equation of a horizontal line with y-intercept b is v = b.

The equation of a vertical line with x-intercept kis x = k.
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The slope m of the line passing through the points (x;, v,) and (x5, v5) is

_ rise _ Y2 =W

b
rn X2 — X

where x; # x,. That is, slope equals rise over run.
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SLOPE OF A LINE

A line that rises from left to right has positive slope.
A line that falls from left to right has negative slope.
A horizontal line has slope 0.

A vertical line has undefined slope.
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m is undefined

(d) Undefined Slope
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